SIS EEHIT

RH5E6H 55




R HBE

HRHBTFRKEXESB1-2-1

XAk 5

FE1TEARR SF55%11H208

AEERE  9,581,000HOBEEMmEIELEZE 871,000M)




i
o
g

Wiy
%
Il

#H - AR - FER - A Hirk - AR ~TE B B = Bl & 4 i 2L
TS A K it 0 DR R B S
HHEBRR &
B&r 117, 400
AR E e 1 117, 400 117, 400 NS
i 7 B 396, 600
B Rt 198, 300 396, 600 AEENES
Bt 426, 600
$omEt 213, 300 426, 600 SEENES
Jit AR 915, 550
8 TR D A Ei i 1 337, 900 337, 900 LA
%ig%ﬁg%% e HE 1 337, 900 337,900 5oy il
RV g 1 239, 750 239, 750 SEANES
I T 1, 155, 500
I i Ve 9 iy 2 577, 750 1, 155, 500 [EEENES




BB B NERE

BH - L - fR - A5 Bk - AR ~T 1A == VA & B & A 5 B
Wi - s 244, 050
Wik - s HET - PR - R - 3 81, 350 244, 050 85X &
HE AT 100, 500
A e e 1 100, 500 100, 500 CEEAAN IS
I
[DES 263, 200
; ; 10544
WA EAERL - 2 131, 600 263, 200 EANIES




B NERE
#H - AR - FER - B Hiks - ARHE Hfr & Al & fE I i &
[EREINEE ¢ 3, 619, 400
= e 1 32, 748 32, 748 3,274,850 X1.0%
Mgt BN X 1 65, 000 65, 000 3,619,400X1. 8% (Fzh LAr2HLL FEIHE)
R 97, 748 32, 748+ 65, 000
B BEJEU 3. 717, 148 3,619, 400+ 97, 748
Z DAt % 53. 85 3, 619, 400 1, 949, 046
SEFS AT 5, 666, 194 3,717, 14841, 949, 046
—E R E % 53.85 5, 666, 194 3, 043, 806 UG -7, 439
B P 8, 710, 000 5, 666, 19443, 043, 806
TH 2 ol S FH 24 45 % 10 8, 710, 000 871, 000
AT EB LR 9, 581, 000




Ui —Fa 3%

AR 220N Btk « TR A CAN A Hi o fif

R E e G it 1.00 117, 400
25 UR g i Py 1. 00 198, 300
3SR e i Py 1.00 213, 300
AR s oA G i 1. 00 337,900
SEIINER  ryommic sy s T R BT T 1.00 337, 900
O AUIE e HosE i K 1.00 239, 750
(EERANIITES I i VE iz P 1. 00 5717, 750
BANUME e . s SRR S ] 1. 00 81, 350
9TUIE ik it 1. 00 100, 500
05 RER | spdpeg Py 1. 00 131, 600




AW B

X AT ETE HE (%1 5) 1 X %y
4 i Bk - B R~k H O #% &=| # fili | 4 G| g o=

EXESs B 1.0 62, 200 62, 200
A

Fehh (A) B 1.0 55, 200 55, 200
A

Fehf (B) B 0.0 45, 300 0
A

il (©) B 0.0 35, 600 0
A

EsZoi=! B 0.0 31, 600 0
A

7 g 1.0 117, 400
=

BN Y720 1.0 117, 400
=




AW B

Bl a1 H (% 2 5) 1 #4740
4 i Bk - B Rk HOfr | # & H fili | 4 G| o=
EXESsl B 1.0 62, 200 62, 200
A
Fehf (A) B 1.0 55, 200 55, 200
A
Fehf (B) B 1.0 45, 300 45, 300
A
Fehf (©) B 1.0 35, 600 35, 600
A
ST i=! B 0.0 31, 600 0
A
7 g 1.0 198, 300
AT
BN Y720 1.0 198, 300
AT




AW B

st A HE (%3 5) 1 #4147 %40
4 i Bk - B Rk HOfr | # & H fili | 4 A o=
EXESsl B 0.0 62, 200 0
A
Fehf (A) B 0.0 55, 200 0
A
Fehf (B) B 1.0 45, 300 45, 300
A
Es3:1I(O) B 2.5 35, 600 89, 000
A
s i=! B 2.5 31, 600 79, 000
A
7 g 1.0 213, 300
AT
BN Y720 1.0 213, 300
AT




AW B

i TRF O FRFS HEfE (%4 5) 1 HH 4V
4 i Bk - Bk H ik HOfr | # & H fili | 4 G| @ o=

EXESs B& 1.5 62, 200 93, 300
A

Fehm (A) B 1.5 55, 200 82, 800
A

Fehf (B) B 2.0 45, 300 90, 600
A

Rl (©) B 2.0 35, 600 71, 200
A

ST i=! B 0.0 31, 600 0
A

7 g 1.0 337, 900
THH

BN Y720 1.0 337, 900
THH




AW B

THOBMICR T Dl THIEOMR #E (%5 5) 1 HH %Y
4 i Bk - B Rk HOfr | # & B fili | 4 G| g =

EXERsil B 1.5 62, 200 93, 300
A

Fehh (A) B 1.5 55, 200 82, 800
A

Fehf (B) B 2.0 45, 300 90, 600
A

Fehf (0 B 2.0 35, 600 71, 200
A

ST i=! B 0.0 31, 600 0
A

7 g 1.0 337, 900
THH

BN Y720 1.0 337, 900
THH




AW B

WHREHORE HEfE (6 &) 1 HH 4V
4 i Bk - B Rk H Ol #% &=| H fili | 4 %A o=

EXESs B 0.0 62, 200 0
A

Fehf (A) B 1.5 55, 200 82, 800
A

Fehf (B) B 1.5 45, 300 67, 950
A

Fehf (©) B 2.5 35, 600 89, 000
A

EsZol=! B 0.0 31, 600 0
A

= g 1.0 239, 750
THH

BN Y720 1.0 239, 750
THH




AW B

B ERK i (%7 5) 1 #4740
4 i B - Bk & B2 | B = B i | & %A O
EXESs B 0.0 62, 200 0
A
Fehh (A) B 0.0 55, 200 0
A
Fehf (B) B 1.5 45, 300 67, 950
A
£ I(O) BE 5.0 35, 600 178, 000
A
ST i=! B 10.5 31, 600 331, 800
A
7 g 1.0 577, 750
AT
BN Y720 1.0 577, 750
AT




AW B

Wi - W5 - PR - (% 8 &%) I =1 )
4 i Bk - B Rk HOfr | # & H fili | 4 G| o=

EXESs B 0.5 62, 200 31, 100
A

Fehh (A) B 0.5 55, 200 27, 600
A

Fehf (B) B 0.5 45, 300 22, 650
A

Fehf (0 B 0.0 35, 600 0
A

ST i=! B 0.0 31, 600 0
A

7 g 1.0 81, 350
[

BN 720 1.0 81, 350
[]




AW B

FeAT HE (%9 &%) 1 X %y
4 i Bk - B Rk HOfr | # & H fili | 4 %A o=

EXESsl B 0.0 62, 200 0
A

Fehm (A) B 1.0 55, 200 55, 200
A

Fehf (B) B 1.0 45, 300 45, 300
A

Fehf (0 B 0.0 35, 600 0
A

ST~ B 0.0 31, 600 0
A

= g 1.0 100, 500
=

BN Y720 1.0 100, 500
=




AW B

WA EERR (% 10 5 ) 1 #1474Y
4 i Bk - B Rk HOfr | # & B i | & G| OB
EXESs B 0.5 62, 200 31, 100
A
Fehm (A) B 1.0 55, 200 55, 200
A
Fehf (B) B 1.0 45, 300 45, 300
A
Fehf (©) B 0.0 35, 600 0
A
= g 1.0 131, 600
AT
BN Y720 1.0 131, 600
AT




ANRAEM—%

. FEEIE
2 ¥ S NS B By | BEi(eE) [EES
FEBED XEt A 62,200 [F B (R5.38~)
HEm (A) EREt A 55,200 | #Ef (R5.38~)
HEm(B) s%Et A 45,300 | F5EM (R5.38~)
HEm(C) REt A 35,600 |75 EH (R5.38~)
Hifrg %Et A 31,600 |7 EH (R5.38~)
. MR PR B
% 73 HE-RRTiEx | B 6L | BEf(GRE™) EES
B8
% 73 g -RR~TiE | B A B EES
. FDih
% 73 g -RR~Tix | B A B EES
FOMEMEIE o % 35.0 |E#E 1-1-3 2-2-1 (3)
—REEEEHA S % 350 |H# 1-1-3 2-0-1 (&)






